Q.1: Solve one-step Multiplication equations involving integers and rational numbers P1

/I'x 506

Solve the equation. —

—7x = 56 "q_

/15’-8
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Q.2: Identify complementary and supplementary angles P1 Mark(s): 0/3

Select the angle that is . slUax all d_!_ngj daaiall dsglill 33
complementary to the given angle. ‘% %WD
- E‘ O
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235 y 6 -t
— ‘
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Factor the expression. 5x : ) I_ NEJYEN | e | Ja
5x + 35 5x + 35
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Name the angle in two ways. - OSRs phas Al A
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Q.5: Simplify algebraic expressions by identifying and combining like terms P1 ‘ Mark(s): 3/3

Identify like terms in the expression. -l B dguliiall sgaal) sas
5x%, —5,5x, 3x% 5xZ%, —5,5x, 3x?
- S
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Q.6: Use inverse operations to solve one-step addition and subtraction inequalities P1 ‘ Mark(s): 0/3

sotve. AAHE &y |
x+5 < 14 ’,g _5 x+5<1f
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Q.7: Write one-step addition and subtraction inequalities P2 Mark(s): 5/5

Nour paid ) for a shirt that e8] Laiadl Lal AED 90 g Cain

was on sale. e difference ~— Sy o) mead) O CEDISAY) L Siliaadanl)
. — ¥

between the original price and the <is) LAED 15.50 588 Ao Ol aaadll)

sale price was AED 15.50. P oasadll Jaiaall jmaad) apaatl A0

Write an inequality to determine

the possible price of the shirt P.
—
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Q.8: Use complementary and supplementary angles to find missing values PZ2. Mark(s): 5/5

A tree is leaning as shown in the CJSEIL mnga 98 LaS Jaad B
figure Write an equation that can be X dasd alagy lgaladiu) € dlalaa iS)
used to find the value of x. O o o
\ 1Zx+T + 105 =120
b P
o« 2= _TE,

» X

s SV
(12x + 9)° ‘105°

~ P
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o MAT.3.07.04.001
12x + 9 + 105 = 90°
a.
i 12X+ 9 + 105 = 180° &



Q.9: solve one-step multiplication and division inequalities P2 Mark(s): 0/5

Solve the inequality. ‘141@‘ % LAoldal s

R —
—4x > —36 ’JF - L" —4x = —36
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o MAT.3.07.04.001 1 é :I,




Q.10: Solve Two-Step Equations P2 Mark(s): 0/5

Solve the equation. _4_ - 2_, Adsleal) Ja

0.5x+2 =17 — 0.5x+2 =17
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Amal started witl\ $ 54)and spent - <P ase JU S 6 waails § 54 e Jal cilyy

-

$ 6 each day at camp. She has $ 18 $ 18 gl LA . Siamal)
left. Write an equation to find how 0 d Al aac A< alasy dlalaa Cuis)
many days@Amal was at camp. - Semal) B Jal lgias

54 -6d= 1%

Learning Outcomes Covered
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6 +54d—=18 .
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54 + 6d = 18 -
b.
C.

‘ 54 — 6d = 18



e\ Equations with Rational Mumbers P2
=1 \
’ — L d
— 1@ o< -~ 2 4
4/ & Alstead) Ja
——

Solve the equation.
A | ) e 7w —al
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Q.13: Simplify algebraic expressions P2 Mark(s): 0/5

Simpl1+9. . 6m—1—8n+ 9 hiu
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Q.14: Write and Solve Two-Step Inequalities P2 5 Mark(s): 5/5

solve the inequality. + %D LAdalaal) Ja
1 5 ey q 1 5
2z—-93>15 ‘ + 3 "522_95}16
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W.AlD! LIASSITY dAlua uravvy uaianygies r i Marki(s): 3/3

Which of the following triangles is Taild Sulfia oo 40V lilial) (ha s
a right triangle>
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Q.16: Use inverse operations to solve one-step multiplication and division inequalities P1 Mark(s): 3/3

e (F)eZ A
2

X
7
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Q.17: Use different methods to add linear expressions P1 | Mark(s): 3/3

-3b + 7b zaa)

Learning Outcomes Covered

3b + 7b. |
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- alact H.E:...-u.‘c. Z.'lgm J;i.q,.q.. Jia

Graph the solution set of the
inequality on the number line. X < 1
1 3
( J—
*=3

W=+
Wl= 4
WIN

-

b

|=
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Solve the equation. LAlalaal) s

o MAT.3.02.11.002 -

X+7=2 DC‘I‘A/ Z x+7=2
T 47" -7
= -5




1 e o

Q.20: Use different methods to add linear expressions P2 Mark(s): 5/5

Ad 6) +‘(—49 —7) (—5x + 6) + (—4x — 7) aaa)

Learning Outcomes Covered | - Gx + b
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